HEHENRUA DR

HM6F1R 1BIR7E

AD S O
HHE = 7 = MBDC [GED |BBoC |EED
5 oLt Bt |ol |BED
X 7 14,538 13,725 15,237 28962 o8| -196| -49]| -750
B W 1,495 1,601 1676 3277 > 11 4 1
T @ 1,340 1,534 1,535 3,069 1 5 5| 74
2 8 f 1,616 1,704 1,879 3583 0 > 1 60
- 432 611 617 1,228 0 1 5| a4
> 1,199 1,203 1,299 2592 < -z0] -11 06
o2 1,016 1,092 1,144 2236 1| o4 4| 7o
I H 481 399 435 834 0 -13 - -33
nm 129 130 115 245 0 5 1 11
i) = 130 111 129 240 1 - 1 -10
I} 318 300 300 600 ) 5 4| 31
5t 22,694 22500 24.366 46866 | -32| -265] -73|-1472
BB DD 22726 20542 24,397 46,939
BADEDL -32 42 -31 73
AERB D 22,959 23072 24,966 48038
BERIB E DL, -265 572 -600 1172
BIREBBDH 23,163 23697 25577 49274
BIREBBEDL -469 1197 -1.211 -2.408
RE1B1BREDS | 22,694 22,500 24,366 46,366
151 B 1 BIRE S DL 0 0 0 0
BISE1 28 PDREIAR
2 g ERDBIB
HaE 9 5 14 E3 g
BT 44 33 77 HeE 9 5 14
BRIEE -35 28 -63 A 21 22 43
A 21 22 43 BETHZ 0 0 0
i 28 25 53 (P 30 27 57
HEIET -7 -3 -10 BT 44 33 77
e HS 0 0 0 e 28 25 53
BESRS 0 0 0 TSHE IR 0 0 0
DB (0] (0] 0] 5t (= 72 58 130
KEEEt 40 -31 73 1EFEs| -4 ~31 73
SH5E1 81 BH5128KBETOR
HE BT BRI
216 087 771 e i
A | BERES | Gd |BEERs|dsme (tomE) Bt 1z
1,088 1 1,483 7 401

HIDORE, EREREBIRICEDVDTEHLIZEDTY,
XEM24F8 A1ARALBOHTEHREVCAOBEICE, FRERXSRICERSNTOINEAERIEEN

FY. (ER24F7 A1 BREUAOEFHRVAOBEICE. ABAMERFEFTNEEA,)




